8 by 8 Hidato Puzzles (Medium)

Fill the grid with the numbers 1 to 64 to make a non-stop connecting path.
You may connect the numbers horizontally, vertically or diagonally.
The start and finish numbers (the ‘1’ and ‘64’) are printed as circles.
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Answers

Fill the grid with the numbers 1 to 64 to make a non-stop connecting path.
You may connect the numbers horizontally, vertically or diagonally.
The start and finish numbers (the ‘1° and ‘64’) are printed as circles.

49 |50 |51 |43 |42 56 55

46 |48 |44 |52 |41 |54 |57 |63
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